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1. The world populatign in 2000 was approximately 6.08 billion. The
annual rate o @ as about 1.26%. in"ﬁa\
a. Find the growth q“actor for the worl population.

. 012

b. Suppose the rate of increase continues to be 1.26% . Write a
function to model the world populationk

Y=6.08(1.0120)
c. Let x be the number of years he year 2000. Find the
world population in 2010. it 08(( o) Z(p?'° .
X=10 = . 89 Jallion people
2. A computer valued at§2§00 epreciatesyt the rate o &3% per
year' e r ® 14.3

NiHA
a. Writea furllcntlc!n‘ft-{-at lmcn:lels the value of the computer.

=500 (.851)"

b. Find the value of the computer after three years.

N = (0500 (.8‘5’733
Y= $4091.25

3. The population of a certain animal species decreases at a rate of
3.5% per year. You have counted 80 of the animals in the habitat

you are studying.
2. Write a function that models the change in the animal

population.

b. Graph the function. Estimate the number of years until the
population fist drops below 15 animals
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Exponential Growth and Decay Word Problems

Half-Life Problems

A hospital prepares a IB(O\mg supp@gf technetium-99m which has
a half-life of 6 hours.

What is the decay factor? l...‘lz_ - ‘Iz_

b hours t/

Write an equation to represent this problem. H <100 ('l?.)

Find the amount of technetium-99m that remains after 75 hours.
Az 100 (LN
2

.0J» m9)

What is the length of a half-life?

Arsenic-74 is used to locate brain tumors. It has a half-life of 17.5

days.

What is the decay factor?

What is the length of a half-life?

Write an equation to represent this problem.

Find the amount remaining after 6 days from a 90-mg sample.

Phosphorus-32 is used to study a plant’s use of fertilizer. It has a
half-life of 14.3 days. Write the exponential decay function for a 50-
mg sample. Find the amount of phosporus-32 remaining after 84

Scanned by CamScanner



